SCORPION KICK ),

Football Table / FuBBballtisch / Tafelvoetbaltafel /

Baby foot / Futbolin / Calcio balilla

3+

USER MANUAL

Keep instructions for later use

GEBRAUCHSANWEISUNG

Anleitung zum spdteren Gebrauch aufbewahren

GEBRUIKSHANDLEIDING

Handleiding bewaren voor later gebruik

MODE D'EMPLOI

Conserver la notice pour usage ultérieur

MANUAL DE USUARIO

Guardar estas Instrucciones para su uso future

INSTRUZIONE PER L'USO

Conservare l'istruzioni per uso successivo

fOuLAR

WARNING

‘ &9
@ N

Read these instructions carefully before use.

WARNING
CHOKING HAZARD - SMALL PARTS
Not suitable for children under 36 months.

WARNING

THE PRODUCT IS TO BE ASSEMBLED BY AN ADULT.

WARNING

Potential hazard description, e.g. in unassembled state
contains potentially hazardous sharp points,

so please keep out of baby’s reach.

>PB B




SCORPION KICK

A040.103.00

fOuLAR

1. COMPONENTS

1 2 3 4 5

& \\\ / \
Side panel End panel Playing field Field support brace | Left angled leg
2x 2x 1x 2x 1x
6 7 8 9

N

&

S

A

'~

Right angled leg Left straight leg A | Right straight leg A | Bottom plank Bottom rod
1x 1x 1x 1x 1x
11 12 13 14 15
<
| e—— ) 7
o (o) @
Bolt 5/16"x 1-1/2" | Washer 5/16" Cabinet rod Washer 1/4”x 19 mm | Nut 1/4”
8x 8x 2x 4x 4x
16 17 18 20

%

Bolt 1/4"x 1-3/4"

0,

Washer 1/4”x 19 mm

&

Wing bolt 5/16" x 2-1/2"

-

3 player rod
4x

/

2 player rod
2x

8x 8x 6Xx
21 22 23 g 24 25
5 player rod Red player Blue player Bumper Plastic washer 1/2”
2x 11x 11x 16x 16x
26 27 28 29 30
<_x

5 | gy 80 (& D)
Bushing Bolt #3 x 18 mm Nut #3 Rod handle Rod cap
4x 26x 26x 8x 8x
31 32 33 34 35
Screw F4 x 1-1/8" | Counter Ball Allen wrench Tools
4x 2x 2x 1x 1+1
36 37 38 39 40
Bolt 5/16”x 1-1/2" | Washer 5/16” x 23 mm| Nut 5/16”" Left straight leg B | Right straight leg B

6X 4x 4x 1x 1x
a1 42 43 a4

Washer 5/16” x 23 mm| Cabinet rod Wheel Bar nut 1/4”x 12 mm

6X 1x 2x 8x




B

SCORPION KICK

A040.103.00

fOuLAR

2. ASSEMBLY




R

SCORPION KICK

A040.103.00

fOuLAR




SCORPION KICK
A040.103.00




B

3
3
3
by

SCORPION KICK

A040.103.00




SCORPION KICHK

A040.103.00

Y 4

TOuLAR




SCORPION KICK ),

A040.103.00 LDLHR

3. GUARANTEE

Pragma / Cougar Games provides a 2-year guarantee on the Scorpion Kick football

table when properly used in respect of the joints and accessories.

Pragma / Cougar Games gibt entsprechend den allgemeinen Garantiebestimmungen
fur die Scorpion Kick FuBBballtisch bei richtiger Verwendung eine Garantie von 2 Jahren

auf die Verbindungen und das Zubehor.

Pragma / Cougar Games verstrekt op de Scorpion Kick tafelvoetbaltafel bij juist

gebruik een garantie van 2 jaar op de verbindingen en accessoires.

Sur le Baby foot Scorpion Kick, Pragma / Cougar Games offre une garantie de 2 ans
pour les raccords et accessoires a condition de l'utiliser de maniere adéquate et

conformément aux conditions générales de la garantie.

Pragma / Cougar Games ofrece una garantia de 2 afos a las conexiones y accesorios

de Futbolin Scorpion Kick, siempre que se utilicen de forma adecuada.

Il Calcio balilla Scorpion Kick - fermo restando un idoneo utilizzo - da una garanzia

Pragma / Cougar Games di 2 anni sui giunUti e sugli accessori.




